Combined Graduate Level Examination 2020 Tier Il

[Roll Number WWwWw.govTtjobsalert.in

Candidate Name [Www.govijobsalert.in

\Venue Name Jaipur Engineering College

Exam Date 28/01/2022

Exam Time 2:00 PM - 4:00 PM

Subject Paper IV General Studies Finance and Economics
Q.1

F=@T e 7 @ =9 o Fus e 22

A X mifEes RfamT B off I @

x 2.
HEgHE & TAT % AEgS W TS & 3T HEm

3
e WA F A A, [TaFARAT (VERR) Wiiear (W) Fr 3 wwar ¥k oo R e @
iz war T

x 4.
If T FUTHAT arT Rfdse 3, O 37 AT 2

Question ID : 65497837711

Status : Answered

Chosen Option : 2

Q.2

Ans

e saTea & Tey # FR@a § ¥ Fi @ FUa Tod 872
%mmmﬁﬁwm@mmm
g%ﬁmmm(m)mﬁﬁma(m)mW%l
;;;m,wﬁﬁmﬂmeﬁﬂ:aﬁﬁqﬁmmﬂm%l

X 4. SETRe SR 3TFelAT 9T 3 2 &

Question ID : 65497837677

Status : Answered

Chosen Option : 2




Q.3

Ans

& T 71T awEl & seR ) fRufy fEwor (statement ofaﬁaim)ﬁ'ﬁ'aﬂwmgﬂ'm#m
EaE

AT A TF SRS TN F Ao § AR T EEd Wt Joer 9 7@ W §1 31 A 2020 # 5

75,000 §1 4= A 7 Tl 3T # B 112,000 P s smeww # 112,500 78 G w9 A
FETT| 31 AW 2021 @ ehr MfEAAr AT TFAT $H IHR §- T A=ew AeF 290,000 R F dHER
A 21,26,500, e #1 Hra 224,570 v 9% F 225,000 7%z

x 1. 286,070
X2 212,570
+ 3. 310,570
x 4. 398,070

Question ID : 65497837684

Status : Answered

Chosen Option : 2

Q.4

Ans

A P #r 8% TwES F 31 A 2021 #1924 = FA 9 (F Iw) ) dws =2 (v 5% @
AT FT W et g s s

1. 80w P & Furh Trdelt 3 sgE 2200 & s fer @1 s Reer aan, S G o & ad
&@ @ am

2.28 =T 2021 F #F & S 265 F % F 4 3T 2021 FF A G A1

3.31 A 2021 & SA P @0 U T 246 F A% fewm wan Sy dF & 12 ander, 2021 F+r
e R T

31 A 2021 T IFE TE (7 TF) F HGAR dF doF FAT FET?

X 1. 31,235 =7 ATH W (3T FoA)
<2 21,143 T a7 9w (3R &&m)
X3 31,189 & AT AY (Ff2e Iw)
X 4. 3705 FT FAT 99 (FfEe W)

Question ID : 65497837687

Status : Answered

Chosen Option : 4

Q.5

Ans

SIta 3R sprae @ # FEeila Feed #§ § #=7 aifEe g g2
(i) Fo= a¥ & wafag @i wawr R sEae|
(i) & a1 FEmr I (avh) ¥ FEfe w@sh witadr AR spErar |
(iii) TorET R S AT FERT Fr WA fe fer sl witawr s e
X 1. e (i)
v 2 (i), (i) 3T (i)
X 3. el (ii)
X 4 FHaer (i) AR (i)

Question ID : 65497837709

Status : Answered

Chosen Option : 4




Q.6

Ans

When an income is received in advance, the treatment in the Profit & Loss account and balance sheet, respectively, will
be:

X 1.
added to the respective income on the credit side; shown on the liabilities side

x 2.

added to the respective income on the credit side; shown on the assets side

x 3.

deducted from the respective income on the credit side; shown on the assets side

o 4.
deducted from the respective income on the credit side; shown on the liabilities side
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Q.10 Which of the following statements is INCORRECT in the context of accounting concepts?
Ans X 1.

In case of precious metals like gold, the revenue is recognised when the gold is mined and not necessarily when it is
sold.

2
The realization concept is related to both revenues and expenses.
X 3.

In case of sale on instalment basis under hire purchase transactions, cash received in the form of instalment is the
amount of revenue recognised.

X 4.

Accounting systems based on the accrual concept is also known as the Mercantile System of Accounting.

Question ID : 65497837679
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Q.14 Match the following accounting concepts with the meaning/implications.

Accounting Meaning/

Concept Implication

(i) Money (a) Capital of the

measurement proprietor is

concept considered as a
liability

(ii) Business (b) Fixed assets are

entity concept valued on cost basis

(c) Changes in
(iii) Going purchasing power are
concern concept  ignored

Ans X1 (1) = (b), (i) — (a), (iii) — (c)
X 2. (i) —(a), (ii) — (b), (iii) —(c)
¢ 3. (1) = (). (ii) — (a), (i) — (b)
X 4. (1) = (), (ii) — (b), (iii) —(a)
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Ans X 1. HaeTT (depletion)

X 2. FeA9 AT (obsolescence)

X 3. HeIgH (depreciation)

v 4 FOTar (dilapidation)
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x 4.
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Q.32 The general acceptable accounting principles (GAAPs) fulfils the conditions of
(1) Relevance
(ii)  Objectivity
(iiiy  Feasibility
Ans 1. (i), (ii) and (iii)
X 2. Only (i) and (ii)
X 3. Only (ii)
X 4. Only (i)
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Status : Answered
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Ans X 1.
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Tic @ # 74,000
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x 2.
#irarer B Alec Dr 74,500
TFFC @ A 74,000
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X 3.
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TS T H 74,000
o 4.
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A% Wd H 74,000
TS H T8 ar9dr 7500
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Ans & 1.212,000
x 2 3¥2,000
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Q.37 #=h, dfw anfy S argat W Femew wfe g § O 5 Sl F BT v o A e g
Tg T E e TR ¥ meite 37

Ans X 1. wfgarg $r gRETEr (Convention of conservatism)
x 2.

qUT WeheleuT @ 99Er (Convention of full disclosure)

v 3. 8iifaerar & 9fEr (Convention of materiality)
x4 fads &1 g@rer (Convention of prudence)
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Ans 1.

Rftres segat & owiewa aRfet & T F FF THEEIAr F@ A 2
X 2. @R IRaTfear Aty garr T & FJa

X 3.

qUT FeRETeRoT @ aiarer @ fad® #r afarr (convention of prudence) st FET ST EI
X 4.

@t TRt swE F FE aafFana @ 74 A ¥
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Ans

o 1.

X 4.

0 Prfafea § ¥ N & I AT T (g dw) F RS 39

#AH A & TG # 500 H TR F fFT 1T s Foar aw g BHar

X2 arer anfEgar Fr fofr & g & A
X 3. Teile T 3UR WIS T JHIET Far FT

AT A T 9reg TMRY Y, Todr § STAT B F @a 7 $ise ¢ f&ar am
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Question ID : 65497837705
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Ans

v 41%
X2 40%
X3 45%
X4 42%

Q1 9 FEaT 2020 # wEgS 158 Taem smoer & 3w Roe & sgEm, e 3 s B § R S wd
Fr FEe HEE (9o i) w+; T[T F WY G R ST =)

Question ID : 65497837717
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Ans

x 1.

Q2 9w smEIor 7&K (SDR) ¥ Fesf § Mol feedt & ¥ #i9 @1 #ua @ &2

SDR #HgT % Heg &I 0T ¥ R 9T H el 2

X2
T3t % SDR WA H 3AYS o, TU, S A, 9133 Teforr anfaAa gl
x5 SDR AW HaT #19 (IMF) #r J27 2

o 4.

T # SDR & 0.888671 a1 & Hiwt & swre feveiifyad Rram aram o

Question ID : 65497837763
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Ans

v Tl 3G I UACHE T H FH BT ¢
X 2. AT 3e9E 9% U 3T &7 5% 2 8l
X 3. raa 3e9g % U MR FT 5% aer 2l
X 4 BATT 3E 7% L IR & g% g 2l
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Status : Answered
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Ans X 1. 1980

v 2 1966

X3 1961

X 4 1956

Question ID : 65497837760
Status : Answered
Chosen Option : 3

Q5 gfear arer & Awrer &, #T AT TET-ANE (elasticity) @ 7
Ans x 1. QL'_"”'

X2 grafes

< 3. TddTcHh

" 4 HUcHD

Question ID : 65497837726
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Chosen Option : 4

Q.6  The real GDP growth of the Indian economy is impacted negatively by which of the following?
1) Rise in inflation
2) Low domestic manufacturing activity

3) Increased government spending on infrastructure

Ans % 1. 1,2 and 3
2 Only 1,2
X3 Only 1,3
X 4. Only 1

Question ID : 65497837749
Status : Answered
Chosen Option : 4
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Ans X 1.
A (Fe) 3% 3RT AR Ffe, I FE I = IS 2

o 2.
woa #F, AT fede 4o TRRET #r ToRE w5 B wges St f e a8 R
T
x 3.
T depl BT FATH Facd siaact o 210 FUF g =gl
X 4.

A de, R & % T HOT & # F F 2

Question ID : 65497837769
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4 mHEIeE (isoquant) & | FT TR TEAT &7
i sET TR
ii. G @ ER

A X (i) 3R (i) @t
v Far (i) s 7T Er (i)

X 3. Fhaer (i)
X4 waer (i)
Question ID : 65497837737
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Q.9 23 fFeT 2013 # w07 FOA wEE IR TIAAT FT g ufawnfag frar T am

AN X1 HETETATS HEw TSET Al AT e
X 2. QAT TAIG AN Faat (A

o 3.

ST HeAed WAA-ITSaT agdy Hrehfaer e
X 4.

SIASTTer AT TISTAT-ISEIT AT 3Teiiaerr e

Question ID : 65497837756
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Q.10 Fifer AT a9 3= I § F9 98 A A9 § & 39 o o f Eeaear g,
AT AT HEERIT & FHAAT &1 a1 7 e Rerw @ e & e fear s g

" o1 gEedr (Hawkish)

X 2. 38X (Accommodative)

X 3. efaarér (Dovish)

X 4 gig=rdia (Countercyclical)

Question ID : 65497837764
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Q1 Which of the following statements is INCORRECT?

Ans X 1.

Money obtained under the Market Stabilization Scheme is kept in a separate account and not transferred to the
gOVBﬂllTleﬂt.

o 2.

Under liquidity adjustment facility, in a reverse repo transaction RBI infuses liquidity in the system.

& 3. The Market Stabilization Scheme was introduced in 2004.
X 4.

Open market operations in the secondary market are carried out on the electronic Negotiated Dealing System - Order

Matching (NDS-OM) platform.

Question ID : 65497837766
Status : Answered
Chosen Option : 2

Q12 77 Fr FrE-Fa-AETT (elasticity) T 7Y # fiess o IEq I A TS A H
A gl

Ane X Zusiierar #r
v 2 30 FEIHT T FrAa

X3 A $r 3w
X 4 P FHIAT FrAT

Question ID : 65497837731
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Chosen Option : 1

A3 Rrmfafda Rwed § ¥ Fia @ 3cuea WeIaar oF f va THUROT @ 37

Ans X 1.
HETIS &7 quiaar AR gaTarqeT 39T G e @

X 2. steafErhr Fag @ §
v 3. gaTdAr & dFfeas 3TUNT F4f B B
X o FEEH R AR e @ §

Question ID : 65497837723
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i. T &tfasr amafa @
i. Ffer T FAT FT = Fgerar

v (i) 3R (i) gt
X 2 ael (i)
X3 o ar (i) AT T & (i)
X 4 e (i)
Question ID : 65497837736
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s B R FRT F AT TF aE HR HF T 2
i. ®RT F FET F R
i. $ua Fr Fraar 7w
A X e (i)
« 2. hael (ii)
X3 o ar (i) AT T & (i)
x4 (i) 3T (i) 2=t
Question ID : 65497837735
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Chosen Option : 2
Q.16 happens when a government sells only a part of its stake in a public sector company and retains the

majority of it.

Ans X' 1. Nationalisation

" 2. Disinvestments

X 3. Privatisation

X 4. Devolution

Question ID : 65497837761
Status : Answered
Chosen Option : 2

Q17 Marginal Product is defined as:
Ans

# 1. input per unit output
X 2. change in input per unit output
« 3. change in output per unit change in input

X 4. output per unit input

Question ID : 65497837738
Status : Answered
Chosen Option : 3




Q18 g =L + K (Ff Q 3o, L s X K G0 7), ¥ YT TF Icde FolaT S Bl

Ans

X 1. YA (A1) F T34 Iiase

X2 ¥ & e A TR yfawe, aEt
X5 g % "ed yiawe

v 4 AT F Toaw sfawa

Question ID : 65497837740

Status : Answered

Chosen Option : 1

Q19 vw FwET I8 & AN 9% S BT Bl TE x-378T W T y-3e7 9T
I el §
Ans
X 1. S & 3R FrEe; smafa oA
X2 FOT & 3R HET; 3T H AT
X3 S & HR; 3 dr AL fAd
v IR H AR 3T Fr AL AT
Question ID : 65497837734
Status : Answered
Chosen Option : 3
Q.20 The income elasticity of demand is expected to be for goods.
Ans X 1. equal to 0; giffen
« 2. greater than 1; luxury
X 3. greater than 1; inferior
X 4. less than 1; luxury
Question ID : 65497837730
Status : Answered
Chosen Option : 2
Q.21 5= 2015 &, #RE % T 7 IR &1 AR fomar T o, e siem o g e

Ans

N TUAT FAT O S WY TSR TRASAHT F AR FF el TS F B wivg ey fee
weaw AN ORT & i gRied &=

X1 e HIEIAT TETenE TRarAT

X2 fag woT Rers JrEar

X3 TATE (SMART) fadr afasar

v 4 AT 3R ol TNEaa F [ sea e

Question ID : 65497837758

Status : Answered

Chosen Option : 1




Q2 g TR A T RE AT S W EET WA L, @ AEE . g b
TR FET W TH el T ¥

Ans ST Af
X2 S, Featen
X5 girgrer; atfarst
X 4 FEEIY; Feaer

Question ID : 65497837745
Status : Answered
Chosen Option : 1

Q.23 153 fae amier o swgerer 7 & o aw @ @ e SowEm A e (Afesaw o) F B
R TRfeaa-cow fBds 2= %2 (MCF) F Atedq 348 Y29l & 3N 9T 98 far
E el

Ans X 1. D5
+ 2. 100%
X 3. 50%
x4 10%

Question ID : 65497837718
Status : Answered
Chosen Option : 3

Q.24 As per the CAG (DPC's) Act. 1971, the Comptroller and Auditor General of India:

(i) audits all receipts into and expenditure from the Consolidated Fund of India and of each State and of each
Union Territory, having a Legislative Assembly

(ii)  audits all transactions of the Union and of the States relating to Contingency Funds. and Public Accounts
(iii)  audits receipts and expenditure of bodies or authorities substantially financed from Union or State revenue

(iv)  audits accounts of bodies or authorities by request
Ans > 1. Only (i), (ii) and (iii)

X 2. Only (1) and (ii)

X 3. Only (1) and (1ii)

« 4. (1), (ii), (iii) and (iv)

Question ID : 65497837716
Status : Answered
Chosen Option : 1

A2 g1 wore F T F PEeRT Rt § ¥ FiF @ Fus g 22

AN X1 FIT Were H, AT =X FET #r 9 AT R

x2.
HT I, 39T @R 3w Fraat 9 AET T A0 # g §

<5 AT Werd #, TSI TX 3OS B 3T §
X 4 FET T FAAR 9T A H 3R e e g

Question ID : 65497837733
Status : Answered
Chosen Option : 2




Q26 275 9fy ¥ wfy =afFa $ 78 @ 7 gee e F  BFEE g @ o ar

Ans X 1.
grereTs St garr Rl qraw wiadt vz a-fafewr v 5= sfear

X2 TSET ASAAT HiATT (1938)
v 5 GIET Tt (1944)
X 4. ISR WA (1962)

Question ID : 65497837755
Status : Answered
Chosen Option : 1

Q27 s F w@EeT g @ H#R T e v wa somer § e enfae §
() wrufas =T
(i) s T
(i) FITs TR
Ane X e (i) 3 (i)
X 2 e (i)
v (i), (i) 3 (iii)
X 4 et (i)

Question ID : 65497837748
Status : Answered

Chosen Option : 1

Q.28 wier #r HrET FEA-wEET (elasticity) 78 AT § 3 B v $r B @mw @@ 3w & A
TEeTE @ wfafear # afEfET @9 &

A X Fger 3usiEar d T H
X2 ael Held FEJHT H FAAr H
X 3. TS AEICHS HuRes & @ G of
v ¢ waer &= Froar 7

Question ID : 65497837728
Status : Answered
Chosen Option : 4




Q2 from & ¥ F7 W AT TF (WA TEGHT & @) F v AT @
M1 ge gERT T T g A B
X2 § Fsh T @Y W SfaeoRa 7 = §
X5 I FAHESE I% F JAY T 30 s9mfan
x4.é‘5ﬁ€r3ﬁ‘3ﬂ1"§¢§?%ﬁ%f

Question ID : 65497837732
Status : Answered
Chosen Option : 3

Q30 Which of the following is NOT an agency function of the bank?

Ans X 1. Collection of dividends

X 2. Payment of rent
X 3. Payment of tax
« 4. ATM facilities

Question ID : 65497837767
Status : Answered
Chosen Option : 2

Q31 wWhich of the following is a core concept studied in microeconomics?
i.  Consumer Behaviour
ii.  Behaviour of Firms
iii.  Aggregate Level of Output and Inflation in the Economy
Ans 1. Only (i) and (ii)
X 2. Only (i) and (iii)
X 3. Only (ii) and (iii)
X 4. Only (1)

Question ID : 65497837721
Status : Answered
Chosen Option : 1




932 GrEdr-afade (Guidotti-Greenspan)-IMF s

Ans o 1.

it Fr 3AET seTFeE BEl ARSI (U 9Y & fET uies g el & sUeT S@Ye #E (I

T AR a9 EEr e a= e g
5 2.

H & % FEE F EF § 9N AE F WA FAL (AT o) F west # Al g sen & aaaa

anfarer &1
X 3.

& s Rl wor dit 3w ¥ AT e aEw fre v waeaar sRE gmnr et g

TER (M2 T $TT) % @Ay F A, @t F Hedt & el ger Ew $ snivaar afEe #)

x4

i @t IR e el SAeEt (o A & offew IRvET g 9 & aweT 'oie HE| (I

R AR saw @ar sefiEE 5= @ g

Question ID : 65497837762
Status : Answered
Chosen Option : 4

Q.33 Normative economics does NOT involve:

Ans X 1. statements relating to “what ought to be’

« 2. facts

X 3. value judgement

X 4. opinions

Question ID : 65497837720
Status : Answered
Chosen Option : 4

Q.34 wp g & = gravger ¢, 7§ wA F Fo ae TEGHT FT FeNET HL T

Ak qut afaem, ey
v 2 eqITUeRY, T& ST
X 3. UepITereRTT, Tafeer
X 4 THIfSFR, UFH ST

Question ID : 65497837743
Status : Answered
Chosen Option : 2

Q.35 Grfafem & @ fhe mwer & #97 $ FHT TFa-TTeT (elasticity) 3STET HpU-mas gEM?

A" X1 ag A e 3uster Tufig B o mwar &

x 2.

O WHEA S % olg | I9IET H T AT T

3

T A o 9T 3THFAT HIAT AT FT TF ST A9 07 Fd ¢

X+ 39 A W orws w3 Gwer Alsg @

Question ID : 65497837729
Status : Answered
Chosen Option : 1




Q36 gy ==omw g, AT 5 e == F wee gl
A X1 difae; off T
v 2 HHfAE, gorer

x s ER= g?fm
X 4 goreT; EMfAT

Question ID : 65497837719
Status : Answered
Chosen Option : 2

Q.37 g asfior 3t F A AR B iR F s wfouw e & vy gate SfFw

gfeera
Ao/ T fergerr
(i) Fg TR (a) 50%
(i) T=T FLFT (b) 35%
(iii) wrarTE dF (c) 15%

Ans 1.1 - (a);ii - (c); iii - (b)
X2 i - (a)ii - (b); iii - (¢)
X3 i- (b)ii - (a); iii - (c)
X4 i - (c)ii - (b); iii - (a)

Question ID : 65497837768
Status : Answered
Chosen Option : 4

V% AR TeeT Y F dgd, TN |
AN 1 e Y e ¥

X2 T w7

X3 yferg fAfer e serar &

V4 T qE &

Question ID : 65497837765
Status : Answered
Chosen Option : 2




Q.39 sma ¥ AuEE 3T mwERET 9iwE (CAG) saT dfdums $r # sfeafla w97 F 3gEw a9y
o § 3 3w aa # sTaRla waEuE ¥ segEn Tfa G s g

1 G s, At s
- A S
X 3. AL HTEET, TE I
s B S, G

Question ID : 65497837715
Status : Answered
Chosen Option : 1

0 SfflE & ¥ FiT TR w5 e
A - U7 gfeETet #, dieg TeEE a9R J5T & aUeT @i g
B - ToT wfawTut &, ¥\a ToET IR FF & e @
MK e A T AE R
v2 A dR B 2= @@ gl
X3 el A T B
X4 FarA T aB LB

Question ID : 65497837741
Status : Answered
Chosen Option : 3

Q.41 . AT P H $EEE B AGET & F T % $1 7 v A off| $HH 3T T & gl
# 4 wHeT & wHEw # FT |

M ko foea weee; g

X2 gig #Ffa; FH9

v 5 oz @feeT; &8

X 4 I FoIS; FH FIAT

Question ID : 65497837747
Status : Answered
Chosen Option : 3




Q42 goz i ToENT TR F Te F PR § ¥ FiF w w5y g 2

Ans

& 1.

STffE 9rer TOAE a9 F T " AR Rew 3urt € s oA # ae gar gl

X 2 THET TIET FoT AT W Fol =TT F AT B

x 3.

e T freg =m=Ten (Deficit financing) I T § BH AR IS F T H g g 9y o= &
HrF T FE E TE I KO SR A A3 A T oo @ A A

x4

THET el 59 99 % SR TR i 39N HFTRara’ Fr g2iar g

Question ID : 65497837770
Status : Answered
Chosen Option : 3

Q.43 Fererhr wofe & © G A T T e FFar &1 5FE FT F HWGUT F UF FH FT
S = HR omw g
Ans = ,
X 1. gTE; o
x 2 Eﬂé’; Eﬂé’
v g de
X4 o€, aTE
Question ID : 65497837742
Status : Answered
Chosen Option : 3
Q.44

Ans

TTFaT % 91 ¥, 9Ra UF
X 1. §g cgaErT

X 2. GSTETer sreaEr
X3 S ardemaTen

<4 TRfEE sdemasrr

T El

Question ID : 65497837746
Status : Answered
Chosen Option : 4




Y aT ¥ oTw F AR A & T9 % o o g -
A . e TG % Heg @ TR A R T an

x 2.
S Hatad argH @ FIAAN H o F IS g
3

5§ ITg T I FAG F e, A F wsh el B E
x 4.

T 39Kt T sRET A grafEewa R 7 &

Question ID : 65497837727
Status : Answered
Chosen Option : 2

Q46 5 v IVTTTAT UCA WA T F eI WIS A E, AW 3w §
A X1 gefag 3eaes < aTEafaw Iees

X2 FeIad 3cIEA = AEdiae 3cage

X o Fefad 3edled HITT

¢ 4 gHag 3c9EA > JIEdTas 39

Question ID : 65497837724
Status : Answered
Chosen Option : 4

QA7 mittmdm vHav & e F #9aR, & & (e 3 T 7 F Rom O =t @
TSR §| AT # # S W fawed 57 fiEa @ ager T §7

Mx I R IR g R aA T A
Ko A WA IR FTA X A= e g

vs oA &1 3R g X ol 3= g &

Xe TR XTI g X A= @ g

Question ID : 65497837753
Status : Answered
Chosen Option : 3

OB s R T H TEE I Ty ¥ 7 Y
M v oo FEEE & s

X2 FH aeg 7 3% e

X5 TETAT F FETATIET ITAET

X 4. IeUTCe I dehellh o AT

Question ID : 65497837722
Status : Answered
Chosen Option : 1




§'3'ITI

Ans X1 26 FHITET 2003; 26 HTET 2004
v 2 26 3TEd 2003; 5 e 2004
X 3. 5 Fellg 2003; 26 3TFd 2003

X 4. 5 S[es 2003; 5 TS 2004

Q.49 yEwNT seateifieT v see yeuw sfafTE, 2003 F T gam o AR ¥ @

Question ID : 65497837773
Status : Answered
Chosen Option : 3

% R R F ¥ @ @ P

v 1 aTrafas GDP = 309 #eo W NDP + Heaed

X2

¥ BT & 3gEe, GNP = #=gdl 3R a9+ + froar + smrer + wfaafia sefe awr + BT o +
FeaT AT HAETE F - oA - ew W OYE A

X 3.

F9A=T 3T (Disposable income) = =afEded 3T + =@FTTd TeT&T FT
X 4.

39IET ETd 9 GDP = a9/ He¥ 9T GDP + H&{ - |ieqs

Question ID : 65497837750
Status : Answered
Chosen Option : 1

Q.51 v vefiEmEEr ¥ B, sooes § 3§ T O A # Hiwan B s ¥ oser

A 1 MR = MC & 3k MC 3s @ &

X4 zoqmfear &=3

X2 MR = MC g 3t MC Pr wr &r
X3 MR = AR g 3T MR 33 @ &
X*MR=ARZ 3T MR Bz wrar
Question ID : 65497837744
Status : Answered
Chosen Option : 4
Q2 o7 7%, v IT I9sIFAT EIRT AT TE AT H gt E
Ans X1 OO =1
X2 HIT FX
v 3 HoO FX

Question ID : 65497837725
Status : Answered
Chosen Option : 3




00 AT Reet #F ¥ FiF AT FuT o 0

X 1.

S arEdtae fafeHT &7 v BT &, o oer ST § O Qo s-efEda mHar 7 g
X2

Tiekfoer fafasa e ot o7 % wast # Rl 7 & v sHw H fEa
o 3.

s fadte smag @ 3% & =rar &, & s grer @9

X 4.
ST e &3 % A3 & A g ¥ @ry AR (RerE) =

Ans

Question ID : 65497837772

Status : Answered

Chosen Option : 3

Q54 Remittances from a relative working abroad are included:

X 1. New Payments Corporation of India
X 2. Nation Level Payments and Settlement Corporation
« 3. National Payments Corporation of India

X 4. National Payments Company of India

(1) as transfer payments to individuals
(i)  innational income
Ans 1. Only (i)
X 2. Only (ii)
X 3. Both (i) and (ii)
X 4. Nether (1) nor (ii)
Question ID : 65497837752
Status : Answered
Chosen Option : 2
Q.55 is an umbrella organisation for operating retail payments and settlement systems in India, an initiative of
Reserve Bank of India (RBI) and Indian Bank's Association (TBA) under the provisions of the Payment and Settlement
Systems Act, 2007.
Ans

Question ID : 65497837774

Status : Answered

Chosen Option : 3

Q.56 ey a3 Fr mOR #r fafer @ ot dqvews gaw Sfawfed '3eg 1 waEE TR o

gl ST #
o 1 Sl

X2 afaa 7=

X 3. 3cHle
X4 3T

Ans

Question ID : 65497837751

Status : Answered

Chosen Option : 3




Q.57

Ans

Which of the following statements is correct?

+ 1. Balance of trade is a part of balance of payment.
~< 2

Trade in goods and services and net transfers result in capital account surplus.

X 3. When exports exceed imports, there is a trade deficit.
x 4.

Any transaction resulting in a receipt from foreigners is entered as a debit and is given a negative sign in the capital
account.

Question ID : 65497837771
Status : Answered
Chosen Option : 4

Q.58

Fam (feF) ™ F 309 & Tias o F O & REe andr § 3T sus FRor @Y aenEr &
ST 309 g El

A X P
v 2 HEATCHS
X3 HTRTEA®
X4 G=Tod
Question ID : 65497837754
Status : Answered
Chosen Option : 4
Q.59 g & "ger WY T F F7 (FSC), GIFT & &7 o7 &9 2l
Ans 1.
Gujarat International Finance Tec-City (FSRIT ST HISay oh-Tael)
x2.
Gandhinagar International Finance Tec-City (FTeieTR SeI=ITel BIEAE Coh-1T)
X3
Gujarat Indian Finance Technology-City (T[T 320 ®rs-i® caatasionel-1Her)
X 4.
Gujarat International Finance Technical-City (FsRIe $eiaede FE=18 CTaional-18el)
Question ID : 65497837757
Status : Answered
Chosen Option : 2
Q.60 : 4
Faela § O i @ 7= & 357 ¥9 272
Ans

X1 gt fafeor
X 2. greptaeR 3
v faega
X 4 gaiferas

Question ID : 65497837759
Status : Answered
Chosen Option : 1






